MATHEMATICS

ALGEBRA

GRADE 8

LINEAR EQUATIONS WORKSHEET #1

Exercise 1

1 Solve for x:
a r+9=4
e 20+5=17

2 Solve for x:

Exercise 2

1 Solve for a:
a 2(xr+8)+5

5x = 45 ¢ —24 = —6x
3r—2=—14 g 3—4dr=-—-17
¢ H= -
T2
20— 1
Hr+2)=3 g — =

(z—1) =060

¢ 3(xz+3)—2(x+1)=0

e 3de+1)—23x—4)=-T

2 Solve for x:

a 2e—-3=3r+6
¢ 4—br=3r—38
e 12— Te=3x+7
9

4—x2—-22—x2)=6+=x
i 5—2r—(2x+1)=-6

3 Solve for a:

a 23x+1)—3=06x—-1

¢ Comment on your solutions to a and b.

4 Solve for z:
a 6+2x=15—=x
d 17-3x=4—=z

5 Solve for x:

a 2z+4)—x=8

d 2(x+1)+3(x—4)=5
g 3v—2x+1)=-7

j z-1)=1-(3—=x)

[ .-

= = 0 T

d 3—r—=12

h 8=9-2z
T

b 2(z—-3)+3(x+2)=-5
420 —3) +2(x+2) =32

=

T 00

Sl +2)—2(3—2x)=—-14

Jr—4=5—=x
—x=2x+4
hr—9=1-—3x

5—-31—x)=2—-3z

j 34r+2)—xz=-T+zx

b 3(4x+1)=6(2x+1)

3r+T7T=15—a
8—xz=x+6

5(2—3x) = -8 —6x
4(2r - 1)+ 9 =3z
8—(2—x)=2

e —6) +Te=512r—1)

c

- O

S54+a=11—2x

9—-2r=3—u
3 +2) —x=12
1le —2(x—1) = =5

S —4(1—a) =z +12
32z —4) =5z — (12 —x)

Exercise 3

1 Solve for x:

r 4 5
a — == b —=—
2 7 8 6
d r+1 2o-1 o 2v  bH—uw
3 4 3 2
2r—1 44—z h dv+7 S-—ux
g 3 6 T 2
2 Solve for x:
5 2 6 3
a —== —=— [
T 3 x 5
3 7 7 1
2z 3 3z 6 $
3 Solve for x:
20 +3 5 b r+1 2
r+1 3 1-2z 5
r+3 1 dr+3
—_— = = e —— =3
20— 1 3 2 —1
6r —1 - hr+1
=5 _
3— 2 xr+4
4 Solve for x:
a L l = b
2 6
r r+2
< — te -1 d
8 2
20—1 Hx—6
e - 2 - L o f
3 6
20— 7 r—4
9 1‘ 1 1 - h
3
i r 2r—25 B 3
5 3 4
r—6 2r-—1 r—1
k . -
5 10 2

r ox—2
2 3
f 3r+2 2ov-—1
5
i 3r+1 dr—1
6 —2
4 5 3 7
=2 d —=-
3 x 2z 6
5 1 4 3
5.1 h L3
4 12 Tr 2
c 20 -1 B
4— 3
3r—2
f= <
r+4
P24 20 +5 _3
r—1
T 2x
Z 3=
4 3
r+2 r—3
=1
3 4
T €+ 2
I
4 3
r+1 _r 26 —3
3 6 2
r+1 :1:727:1:+4
3 [§] 12
2041 1—do  3a+7
i 2 6



